
1/11

Velvet Upholstered Bed with Gold Trim 



2/11

1

16 X4

2

1

2

3  x2X2

6  x2X2

5

5

7

14

15 X2

X4

13

12

10
10

8

9

11

4

X2

X2

PARTS LIST

3/11

M8*14
Color zinc

M8*30

M8*38 M8*50

2PCS 2PCS

1PC 2PCS 2PCS

4PCS 1PC 1PC

2PCS 2PCS 2PCS

1PC 1PC 2PCS

M8

20PCS

8PCS

36PCS

2PCS

4PCS

1PC 2PCS

M8*18

2PCS

4PCS



1

4/11

13

9

8
11

11

 4PCSA

Color zinc

A

2PCSD

D

D

NUT

NUT

The soft part faces downwards

4PCSA

Color zinc

 4PCSB

10

10   A

5/11

2

 B

  A

  A

10

10

12PCSA

Color zinc

3
12

DATE OF DELIVERY:03/ 2023

100%

REG. NO.CA 47414(CN)



6

7

7/11

1

2

14

1

2

  C

 4PCSC

Install screws and do not
 fully tighten them.

Fully tighten the screws.

Fully tighten the screws.

4

5

6/11

 8PCSB

 16PCSB

G

14

15

  B

  B

  B

2

1

2

1

Install screws and do not
 fully tighten them.

15

3

16



8

9

8/11

6

 7

7

            WARNING! 
Moving parts can crush or cut. 
Keep fingers,hands,and feet away to avoid injury.

6

4PCSD

  D

X2

X2

6

  B

  B

 8PCSB

9/11

10

step 1

step 2



4

E  2PCS

2PCSD

  D

  E

10/11

12

11/11

13

5

Installation Complete

5

5

step 1

step 2


